

<p>Informazione Regolamentata n. 20233-24-2026</p>	<p>Data/Ora Inizio Diffusione 23 Febbraio 2026 10:41:02</p>	<p>Euronext Growth Milan</p>
--	---	------------------------------

Societa' : RACING FORCE

Utenza - referente : RACINGFORCEN04 - Roberto Ferroggiaro

Tipologia : 2.4

Data/Ora Ricezione : 23 Febbraio 2026 10:41:02

Data/Ora Inizio Diffusione : 23 Febbraio 2026 10:41:02

Oggetto : Periodic disclosure on the buyback program

Testo del comunicato

Vedi allegato

PRESS RELEASE

Periodic disclosure on the buyback program

Ronco Scrivia (GE, Italy), February 23, 2026 - **Racing Force S.p.A.** (the “Company” or “RFG”), the parent company of Racing Force Group, which is specialized in the development, production, and marketing of safety components for motorsports worldwide, listed on the Euronext Growth segment in Milan (RFG) and Paris (ALRFG), with regards to the treasury buy-back program authorized by the Shareholders’ Meeting of October 22nd, 2025, announces that between February 16 and 20, 2026, it acquired on the Euronext Growth Milan segment no. 4,697 RFG shares, equal to 0.0171% of the share capital, at an average price of Euro 5.25 per share for a total of Euro 24,653.66.

The purchases were made through the intermediary Equita SIM S.p.A., LEI code 815600E3E9BFBC8FAA85.

Details of the daily purchase transactions on the market are reported below.

Date	No. of shares acquired	Average Price (€)	Value (€)
02/16/2025	1,254	5.14	6,445.56
02/17/2025	3,165	5.30	16,774.50
02/18/2025	150	5.12	768.00
02/20/2025	128	5.20	665.60

In accordance with Article 2, paragraph 3 of the Delegated Regulation (EU) 2016/1052, attached the detailed list of purchases made on ordinary shares RFG (ISIN code IT0005466963) in the aforementioned period, based on the information provided by the intermediary in charge of the execution of the buyback program.

Following the above stated purchases, RFG currently holds 157,046 treasury shares, equal to 0.5734% of the share capital.

Italy (Ronco Scrivia, Pisa) - USA (Doral, Indianapolis, Mooresville) - Bahrain (Sakhir) - Belgium (Tubize)
racingforce.com - ompracing.com - bellracing.com - racingspirit.com

RACINGFORCEGROUP



RACING FORCE GROUP

Racing Force Group

With main headquarters in Ronco Scrivia (Italy), Sakhir (Kingdom of Bahrain), and Mooresville (United States), Racing Force Group is the global leader in motorsport safety, innovation, and performance. Through its portfolio of brands – including OMP, Bell Racing, Zeronoise, and Racing Spirit – equips professional drivers, teams, and manufacturers, as well as passionate amateurs, with racewear, helmets, car parts, communication systems, and technical apparel. Racing Force Group is the only company in the motorsport industry to offer such a comprehensive range of products, contributing each year to numerous victories and titles in both car and kart racing. The Group has also diversified through its HPS brand, applying cutting-edge motorsport technologies to the defense sector.

CONTACTS FOR RACING FORCE

Racing Force

Investor Relations

Roberto Ferroggiaro

E-mail: ir@racingforce.com

Media

Luigi Rossi

Mohamed Al Bareeq

Jacopo Rubino

E-mail: media@racingforce.com

Italy (Ronco Scrivia, Pisa) - USA (Doral, Indianapolis, Mooresville) - Bahrain (Sakhir) - Belgium (Tubize)
racingforce.com - ompracing.com - bellracing.com - racingspirit.com

RACINGFORCEGROUP



BRANDS OF RACING FORCE GROUP

RACING FORCE GROUP

ANNEX

Date	Time	No. of shares acquired	Average Price (€)	Value (€)
02/16/2025	10:37:14	358	5.14	1,840.12
02/17/2025	11:03:30	896	5.14	4,605.44
02/17/2025	09:08:39	435	5.30	2,305.50
02/17/2025	09:11:01	200	5.30	1,060.00
02/17/2025	09:11:21	965	5.30	5,114.50
02/17/2025	09:11:21	1,565	5.30	8,294.50
02/18/2025	12:29:58	150	5.12	768.00
02/20/2025	17:35:08	128	5.20	665.60

Italy (Ronco Scrivia, Pisa) - USA (Doral, Indianapolis, Mooresville) - Bahrain (Sakhir) - Belgium (Tubize)
racingforce.com - ompracing.com - bellracing.com - racingspirit.com

RACINGFORCEGROUP



BRANDS OF RACING FORCE GROUP

Fine Comunicato n.20233-24-2026

Numero di Pagine: 5